
53WC SERIES PULLOUT WASTE CONTAINER

WATCH TUTORIALS OF OUR  
PRODUCTS BEING INSTALLED

WWW.REV-A-SHELF.COM/VIDEOS

* Dependent on unit purchased

PARTS LIST

No. Description Qty.

A Slides 2

B Wall Sides 2

C Chassis Bottom 1

D Connecting Rod (w/ Arm) 2

E Door-Mount Bracket 2

F Waste Container 1 or 2*

G Door-Mount Bracket Spacer 4

H #8 X 3/4” Deep Thread Screws 8

I #6 x 3/8” Pan Head Screws 2

J M4 x 10mm Flat Head Screws 4

K #6 x 1/2” Flat Head Screws 6

L 1/4-20 x 1-1/4” Phillips Bolt (w/ Washer) 4

M Frame Template 1

CARE AND MAINTENANCE:

TOOLS REQUIRED:

Clean with a damp cloth and 
wipe parts dry.

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

INSTALLATION INSTRUCTIONS: 53WC SERIES PULLOUT WASTE CONTAINER I-53WC-0225

YK 10 dicembre, 2024 5:42 PM 1F 0IST00033 NEW 640x450I MP 12-2024 VOLTURA pag. 1

Sc
re

w
 L

oc
at

io
ns

Sc
re

w
 L

oc
at

io
ns

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

Sc
re

w
 L

oc
at

io
ns

Sc
re

w
 L

oc
at

io
ns

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

CENTER LINE OF CABINET

Línea central del gabinete / Ligne centrale de l’armoire

12
40

0 
Ea

rl 
Jo

ne
s 

W
ay

Lo
ui

sv
ill

e,
 K

Y 
40

29
9

re
v-

a-
sh

el
f.c

om
Cu

st
om

er
 S

er
vi

ce
: 8

00
-6

26
-1

12
6

53
W

C 
D

O
U

BL
E 

BI
N

 S
TE

EL
 B

O
TT

O
M

 M
O

U
N

T 
TE

M
PL

A
TE

PL
A

N
TI

LL
A

 D
E 

M
O

N
TA

JE
 IN

FE
RI

O
R 

D
E 

A
CE

RO
 5

3W
C 

D
O

BL
E 

BI
N

 / 
53

W
C 

D
O

U
BL

E 
BI

N
 M

O
D

ÈL
E 

D
E 

M
O

N
TA

G
E 

IN
FÉ

RI
EU

R 
EN

 A
CI

ER

Li
ne

 u
p 

w
ith

 fr
on

t o
f c

ab
in

et
 u

nl
es

s 
in

se
t a

pp
lic

at
io

n.
 F

or
 in

se
t a

pp
lic

at
io

ns
, t

he
 

te
m

pl
at

e 
sh

ou
ld

 b
e 

m
ov

ed
 b

ac
k 

th
e 

th
ic

kn
es

s 
of

 th
e 

do
or

.

A
lin

ea
r l

a 
pl

an
til

la
 a

 la
 p

ar
te

 fr
on

ta
l d

el
 m

ue
bl

e.
 C

on
 e

l m
od

el
o 

de
 

pu
er

ta
in

se
rt

ad
a 

en
 e

l l
ad

o,
 m

ov
er

 la
 p

la
nt

ill
a 

ha
ci

a 
el

 in
te

rio
r d

el
 e

sp
es

or
 d

e 
la

 
pu

er
ta

.

A
lig

ne
r a

ve
c 

la
 fa

ça
de

 d
e 

l’a
rm

oi
re

, s
au

f p
ou

r l
’a

pp
lic

at
io

n 
de

 l’
en

ca
rt

. 
Po

ur
l’a

pp
lic

at
io

n 
de

 l’
en

ca
rt

 le
 m

od
èl

e 
do

it 
êt

re
 ra

m
en

é 
à 

l’é
pa

iss
eu

r d
e 

la
 p

or
te

.

FR
O

N
T 

O
F 

CA
BI

N
ET

Fr
en

te
 d

el
 g

ab
in

et
e 

/ D
ev

an
t 

du
 c

ab
in

et

Re
fe

re
nc

e 
fo

r s
ca

le

1”
2”

T -
53

W
C

-0
71

9



2 Customer Service: 800-626-1126 | rev-a-shelf.com

3 4

Attach the Slides (A) to the Wall Sides (B). The slide (A) should  
engage with rear metal tab as shown. Secure slides to the wall 
sides with (2) #6 x 3/8” Pan Head Screws (I).

Attach Chassis Bottom (C) to the Wall Slides using provided  
(4) M4 x 10mm Flat Head Screws (J). 

Use the Frame Template (M) to mark and pre-drill the screw locations.

NOTE: If installing into a inset application, the template must be set 
back to accommodate for the door thickness.

Snap one end cap onto each end of the Connecting Rod (D),  
then attach to the rear of the unit as shown.



3

5 6
Install the assembled frame into the cabinet and secure with
(8) #8 x 3/4” Deep Thread Screws (H). 

Install the Door-Mount Brackets (E) to the assembled frame with the (4) 1/4-
20 x 1-1/4” Phillips Bolt (w/ Washer) (L). The Door-Mount Brackets (E) should 
line up with the thick portion of the cabinet door.
NOTE: Plastic Spacers (G) are provided if the Door-Mount Brackets (E) need 
to be extended further to reach the thick portion of the door.

7- DOOR MOUNTING

CABINET 
OPENING

DIFFERENCE
DIVIDED BY 2

DOOR SIZE

DISTANCE 
TO 

HARDWARE 
HOLE

DOOR 
OVERLAY

SCREW 
LOCATIONS

HARDWARE
HOLE 

 LOCATION

Measure the distance from the 
bottom edge of the opening to  
the slotted holes in the door 
hardware. This is the  
HARDWARE HOLE LOCATION.
- 

Measure the cabinet opening and 
then measure the door height.  
Take the difference of these two 
numbers and divide it by 2.  
This number is the DOOR OVERLAY.
- 

Measure and mark SCREW 
LOCATIONS, pre-drill pilot holes.

NOTE: Be careful not to drill 
through the cabinet door.
- 

NOTE: If the door is larger  
than the opening, ADD the  
door overlay to the HARDWARE 
HOLE DIMENSIONS
 
If the door is smaller than the 
opening SUBTRACT the inset  
gap from the HARDWARE  
HOLE DIMENSIONS.

INSTALLATION INSTRUCTIONS: 53WC SERIES PULLOUT WASTE CONTAINER



4 Customer Service: 800-626-1126 | rev-a-shelf.com

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

Using the provided (4) #6 x 1/2” Flat Head Screws (K), 
secure Door-Mount Brackets (E) to the cabinet door.

To adjust the door alignment, loosen the bolts on the side of the Door-Mount 
Bracket (E). Ensure the door is aligned correctly, then re-tighten the bolts.

Your waste Container(s) (F) are now ready to be inserted.  
On the units with a single bin, a Connecting Rod (D) is provided to secure the 
waste container in place and create a storage area in the back of the unit.

98



5

SERIES 53 WC PARA CONTENEDORES DE BASURA DESPLEGABLES
POUBELLE COULISSANTE DE LA SÉRIE 53WC

*Depende de la unidad comprada / *Dépend de l’unité achetée

LISTA DE PIEZAS / LISTE DES PIÈCES

No. Descripción / La description Qty.

A Deslizantes / Coulisses 2

B Paredes Laterales / Côtés de la paroi 2

C Chasis Inferior / Bas du châssis 1

D Tubo Conector / Tringle de raccordement 2

E
Soporte de Montaje de la Puerta / 

Support de montage sur la porte
2

F Contenedor de Basura / Poubelle 1 or 2*

G Espaciador / Espaceur 4

H
Tornillos de Profundidad Enroscada #8 x 3/4”

/ Vis à gros filet #8 x 3/4”
8

I
Tornillos de Cabeza Redonda del #6 x 3/8”

/ Vis à tête ronde #8 x 1/4”
2

J
Tornillos de Cabeza Plana M4 x 10mm

/ Vis à tête plate M4 x 10mm
4

K
Tornillos de Cabeza Plana del #6 x 1/2”

/ Vis à tête plate #6 x 1/2”
6

L
Tornillo Phillips de 1/4-20 x 1-1/4” (con tuerca)
/ Boulon Phillips 1/4-20 x 11/4” (avec rondelle)

4

M Plantilla de marco / Modèle de cadre 1

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

I-53WC-0225

CUIDADO/ ENTRETIEN:

Herramientas requeridas:
Outils Requis:

Limpie con un paño húmedo y 
seque las partes.

Nettoyez avec un linge humide et 
essuyez les piéces pour les secher 
complétement.

VER VIDEOS DE
INSTALACIONES DE PRODUCTOS

REGARDER DES VIDÉOS
D’INSTALLATIONS DE PRODUITS

WWW.REV-A-SHELF.COM/VIDEOS

YK 10 dicembre, 2024 5:42 PM 1F 0IST00033 NEW 640x450I MP 12-2024 VOLTURA pag. 1

Sc
re

w
 L

oc
at

io
ns

Sc
re

w
 L

oc
at

io
ns

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

Sc
re

w
 L

oc
at

io
ns

Sc
re

w
 L

oc
at

io
ns

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

U
bi

ca
ci

on
es

 d
e 

lo
s 

to
rn

ill
os

 
Em

pl
ac

em
en

ts
 d

es
 v

is

CENTER LINE OF CABINET

Línea central del gabinete / Ligne centrale de l’armoire

12
40

0 
Ea

rl 
Jo

ne
s 

W
ay

Lo
ui

sv
ill

e,
 K

Y 
40

29
9

re
v-

a-
sh

el
f.c

om
Cu

st
om

er
 S

er
vi

ce
: 8

00
-6

26
-1

12
6

53
W

C 
D

O
U

BL
E 

BI
N

 S
TE

EL
 B

O
TT

O
M

 M
O

U
N

T 
TE

M
PL

A
TE

PL
A

N
TI

LL
A

 D
E 

M
O

N
TA

JE
 IN

FE
RI

O
R 

D
E 

A
CE

RO
 5

3W
C 

D
O

BL
E 

BI
N

 / 
53

W
C 

D
O

U
BL

E 
BI

N
 M

O
D

ÈL
E 

D
E 

M
O

N
TA

G
E 

IN
FÉ

RI
EU

R 
EN

 A
CI

ER

Li
ne

 u
p 

w
ith

 fr
on

t o
f c

ab
in

et
 u

nl
es

s 
in

se
t a

pp
lic

at
io

n.
 F

or
 in

se
t a

pp
lic

at
io

ns
, t

he
 

te
m

pl
at

e 
sh

ou
ld

 b
e 

m
ov

ed
 b

ac
k 

th
e 

th
ic

kn
es

s 
of

 th
e 

do
or

.

A
lin

ea
r l

a 
pl

an
til

la
 a

 la
 p

ar
te

 fr
on

ta
l d

el
 m

ue
bl

e.
 C

on
 e

l m
od

el
o 

de
 

pu
er

ta
in

se
rt

ad
a 

en
 e

l l
ad

o,
 m

ov
er

 la
 p

la
nt

ill
a 

ha
ci

a 
el

 in
te

rio
r d

el
 e

sp
es

or
 d

e 
la

 
pu

er
ta

.

A
lig

ne
r a

ve
c 

la
 fa

ça
de

 d
e 

l’a
rm

oi
re

, s
au

f p
ou

r l
’a

pp
lic

at
io

n 
de

 l’
en

ca
rt

. 
Po

ur
l’a

pp
lic

at
io

n 
de

 l’
en

ca
rt

 le
 m

od
èl

e 
do

it 
êt

re
 ra

m
en

é 
à 

l’é
pa

iss
eu

r d
e 

la
 p

or
te

.

FR
O

N
T 

O
F 

CA
BI

N
ET

Fr
en

te
 d

el
 g

ab
in

et
e 

/ D
ev

an
t 

du
 c

ab
in

et

Re
fe

re
nc

e 
fo

r s
ca

le

1”
2”

T -
53

W
C

-0
71

9



6 Customer Service: 800-626-1126 | rev-a-shelf.com

3 4

Conecte las correderas (A) a los lados del muro (B). La corredera (A) debe 
enganchar con la lengüeta metálica trasera como se indica. Asegure las correderas 
a los lados de la pared con (2) Tornillos de cabeza plana #6 x 3/8” (I).

Fixez les glissières (A) aux parois (B). La glissière (A) doit entrer en contact avec la 
languette métallique arrière, comme indiqué. Fixez les glissières aux parois à l’aide de 
(2) vis à tête cylindrique bombée #6 x 3/8 po (I).

Instale la parte inferior del chasis (C) en las correderas utilizando los (4) 
tornillos de cabeza plana M4 x 10 mm (J) proporcionados. 

Installez le fond du châssis (C) sur les glissières à l’aide des (4) vis à tête plate 
M4 x 10 mm fournies (J). 

Utilice la plantilla de marco (M) para marcar y perforar previamente las 
ubicaciones de los tornillos.
NOTA: Si se instala en una aplicación insertada, la plantilla debe retrocederse 
para adaptarse al grosor de la puerta.

Utilisez le modèle de cadre (M) pour marquer et pré-perforer les emplacements 
des vis.
REMARQUE : En cas d’installation dans un lieu encastré, le modèle doit être 
remis en place pour tenir compte de l’épaisseur de la porte.

Coloque una tapa en cada extremo de la varilla de conexión (D) y, a 
continuación, colóquela en la parte posterior de la unidad como se indica.

Fixez un embout sur chaque extrémité de la tige de raccordement (D), puis 
fixez le tout à l’arrière de l’unité comme indiqué.

- 

- 

- 



7

5 6
Instale el marco ensamblado en el gabinete y asegúrelo con (8) tornillos de 
rosca profunda de #8 x 3/4” (H). 

Installez le cadre assemblé dans l’armoire et fixez-le à l’aide de (8) vis à filetage 
profond (H) #8 x 3/4 po.

Instale los soportes de puerta (E) en el marco ensamblado con el perno Phillips 
(4) 1/4-20 x 1-1/4” (con arandela) (L). Los soportes deben alinearse con la parte 
gruesa de la puerta del gabinete.
 
Installez les supports de porte (E) sur le cadre assemblé à l’aide de (4) boulons 
Phillips (4) 1/4-20 x 1-1/4 po (avec rondelle) (L). Les supports doivent s’aligner sur 
la partie épaisse de la porte de l’armoire.
 
NOTA: Se proporcionan separadores de plástico (G) si los soportes de la 
puerta deben extenderse más para llegar a la parte gruesa de la puerta.

REMARQUE : Des cales en plastique (G) sont fournies si les supports de porte (E) 
doivent être rallongés de manière à atteindre la partie épaisse de la porte.

7- DOOR MOUNTING

APERTURA DEL ARMARIO 
OUVERTURE DU CABINET

DIFERENCIA DIVIDIDA POR 2 
DIFFÉRENCE DIVISÉE PAR 2

TAMAÑO DE LA PUERTA
TAILLE DE LA PORTE

UBICACIÓN DE 
LOS ORIFICIOS 

DE LOS 
HERRAJES

EMPLACEMENT 
DU TROU DE LA 
QUINCAILLERIE

SUPERPOSICIÓN 
DE LA PUERTA.

RECOUVREMENT 
DE LA PORTE

UBICACIONES 
DE LOS 

TORNILLOS

EMPLACEMENTS 
DES VIS

UBICACIÓN DE 
LOS ORIFICIOS 

DE LOS 
HERRAJES

EMPLACEMENT 
DU TROU DE LA 
QUINCAILLERIE

Mida la distancia desde el borde inferior de la 
abertura hasta los orificios ranurados en los 
herrajes de la puerta. Esta es la UBICACIÓN DE 
LOS ORIFICIOS DE LOS HERRAJES.

Mesurez la distance entre le bord inférieur de 
l’ouverture et les trous fendus dans la quincaillerie  
de la porte. Il s’agit de l’EMPLACEMENT DU TROU 
DE LA QUINCAILLERIE.

- 

Mida la abertura del gabinete y luego mida la 
altura de la puerta. Determine la diferencia de 
estos dos números y divídala entre 2. Este número 
es el espacio de SUPERPOSICIÓN DE LA PUERTA.

Mesurez l’ouverture de l’armoire, puis la taille de 
la porte. Prenez la différence de ces deux chiffres 
et divisez-la par 2. Ce chiffre correspond au 
RECOUVREMENT DE LA PORTE.

- 

Mida y marque UBICACIONES DE LOS TORNILLOS, 
pretaladre los agujeros piloto.  NOTA: Tenga 
cuidado de no perforar la puerta del gabinete.

Mesurez et marquez les EMPLACEMENTS DES VIS, 
puis prépercez des trous pilotes.  REMARQUE : 
Assurez-vous de ne pas percer la porte de l’armoire.

- 

NOTA: Si la puerta es más grande que la abertura, 
AGREGUE la superposición de la puerta a las 
DIMENSIONES DE LOS ORIFICIOS DE LOS 
HERRAJES
Si la puerta es más pequeña que la abertura,  
RESTE el espacio de inserción de DIMENSIONES 
DE LOS ORIFICIOS DE LOS HERRAJES

REMARQUE : Si la porte est plus grande que 
l’ouverture, AJOUTEZ le recouvrement de la porte 
aux DIMENSIONS DU TROU DE LA QUINCAILLERIE.
Si la porte est plus petite que l’ouverture, 
SOUSTRAYEZ l’espace d’encastrement des 
DIMENSIONS DU TROU DE LA QUINCAILLERIE.



8 Customer Service: 800-626-1126 | rev-a-shelf.com

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

Con los (4) tornillos de cabeza plana (K) #6 x 1/2” proporcionados,  
asegure los soportes de montaje en puerta (E) a la puerta del gabinete.

À l’aide des (4) vis à tête plate #6 x 1/2 po (K) fournies, fixez les supports de 
montage de porte (E) à la porte de l’armoire.

Para ajustar la alineación de la puerta, afloje los tornillos en el lateral del 
soporte de fijación de puerta (E). Asegúrese de que la puerta esté alineada 
correctamente y, a continuación, vuelva a apretar los tornillos.

Pour ajuster l’alignement de la porte, desserrez les boulons situés sur le côté du 
support de montage de porte (E). Assurez-vous que la porte est correctement 
alignée, puis serrez de nouveau les boulons.

Su (s) contenedor (s) de residuos (F) ya están listos para ser insertados. En las unidades con un solo contenedor, se proporciona una varilla de 
conexión (D) para asegurar el contenedor de desechos en su lugar y crear un área de almacenamiento en la parte posterior de la unidad.

Votre ou vos contenants à déchets (F) sont maintenant prêts à être insérés. Sur les unités dotées d’un seul bac, une tige de raccordement (D) est prévue 
pour fixer le contenant à déchets en place et créer un espace d’entreposage à l’arrière de l’unité.

98


